Flex 2

PCle 4.0 Vertical Riser Bracket

Contents

PCI Slot Cover Bracket

GPU Support Bracket

Flexible PCle 4.0 Riser Cable

2 x 6-32 Thumbscrew for PCI Cover

2 x 6-32 Captive Thumbscrew

a 2 x 6-32 Screw for Riser Cable 04

2 x 6-32 Screw for Bracket



Flex 2

$ Fractal

Installation manual

Insert GPU Support Bracket in PCI Slot Cover Bracket Insert 2 x Screw (6-32) and 2 x Captive Thumbscrew

X /{HZ

'

1. ¢ | L)

Add PCle Riser Cable Insert 2 x Screw (6-32) for Riser Cable

N

3. 4.
Install the Graphics Card Insert 2 x Thumbscrew in
PCI Slot Cover Bracket PH2

» ¥

S. 6.

Fractal Gaming AB, UK Represented by:
Victor Hasselblads Gata 16A, cAa Authorised Rep Compliance Ltd.
S—-421 31, Vastra Frolunda, Sweden ARC House
i — Y g Thurnham
Max 38W N Designed in Sweden Lancaster
fractal-design.com LA2 ODT

UK



